DSV 5445/5444 xxx/400 Operating Point 1 = (90,100) Oper.-Point 2 = (50,100)|Oper.-Point 3 = (10,100} Oper.-Point 4 = (90,50)(Oper.-Point 5 = (50,50)(Oper.-Point 6 = (10,50)|Oper.-Point 7 = (50,25|Oper.-Point 8 = (10,25)
Model DSV Imotor-nominal | Losses W | IE Class | Efficiency % | Losses % | Efficiency % | Losses % | Efficiency % | Losses % | Efficiency % |Losses %| Efficiency % | Losses | Efficiency % | Losses | Efficiency % | Losses | Efficiency % [Losses %
DSV 10A / DSV 15A / (3-12A) 331 1E2 96,8 3,2 97,2 2,8 97,4 2,6 97,9 2,1 98,0 2,0 98,1 1,9 98,2 1,8 98,3 1,7

DSV 16A / DSV 20A 397 1E2 97,1 2,9 97,5 2,5 97,8 2,2 98,2 1,8 98,3 1,7 98,4 1,6 98,5 1,5 98,6 1,4
DSV 30A / 33A 491 1E2 97,6 2,4 97,9 2,1 98,1 1,9 98,5 1,5 98,6 1,4 98,7 1,3 98,8 1,2 98,9 1,1
DSV 40A / DSV 45A 600 1E2 97,8 2,2 98,2 1,8 98,5 1,5 98,7 1,3 98,9 1,1 99,0 1,0 99,1 0,9 99,1 0,9
DSV 60A / DSV 70A 845 1E2 98,0 2,0 98,4 1,6 98,7 1,3 98,9 1,1 99,0 1,0 99,1 0,9 99,2 0,8 99,3 0,7
DSV 80A 1339 1E2 97,6 2,4 98,1 1,9 98,4 1,6 98,7 1,3 98,8 1,2 98,9 1,1 99,1 0,9 99,1 0,9

DSV 120A 1924 1E2 97,7 2,3 98,2 1,8 98,5 1,5 98,8 1,2 99,0 1,0 99,1 0,9 99,2 0,8 99,3 0,7

DSV 150A 2363 1E2 97,7 2,3 98,2 1,8 98,5 1,5 98,8 1,2 99,0 1,0 99,1 0,9 99,2 0,8 99,3 0,7

DSV 200A 3254 1E2 97,7 2,3 98,1 1,9 98,4 1,6 98,7 1,3 98,8 1,2 98,9 1,1 99,1 0,9 99,1 0,9

DSV 250A 3766 1E2 97,8 2,2 98,3 1,7 98,6 1,4 98,8 1,2 99,0 1,0 99,1 0,9 99,2 0,8 99,2 0,8

DSV 320A 4987 1E2 97,8 2,2 98,2 1,8 98,5 1,5 98,8 1,2 98,9 1,1 99,0 1,0 99,2 0,8 99,2 0,8

DSV 400A 5858 1E2 97,9 2,1 98,4 1,6 98,6 1,4 98,9 1,1 99,1 0,9 99,2 0,8 99,3 0,7 99,3 0,7

DSV 470A 9214 1E2 97,2 2,8 97,7 2,3 97,9 2,1 98,5 1,5 98,7 1,3 98,8 1,2 99,0 1,0 99,1 0,9

DSV 550A 9862 1E2 97,4 2,6 97,9 2,1 98,1 1,9 98,6 1,4 98,8 1,2 98,9 1,1 99,1 0,9 99,1 0,9




